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Low Achieved exemplar for 91379, 2015 Overall score: A3 

Q part Annotation 

(a) 
The candidate did not explain the impact on brand loyalty / profit. The stated answer 
provided only partial explanation. 

(b) 
The candidate provided a number of examples of innovation for the chosen business 

(Gallagher), rather than discussing one specific example. 

(c) 
The candidate only explained the Quality Circles as a chosen quality management 
strategy, and explained the positive and the negative effect of the strategy. 

(d) 

The candidate described the chosen change management strategy and the negative 
effect. However, the candidate got off topic when explaining the positive effect by 

providing explanation that was not required. The answer was not structured well. 

 



















 

 

 

High Achieved exemplar for 91379, 2015 Overall score: A4 

Q part Annotation 

(a) 
The candidate has only explained the impact on brand loyalty / profit. The stated answer 
provided a very weak link between brand loyalty and the profitability of Moa campers. 

(b) 
The candidate explained a valid example of innovation for the chosen business. 

However, the stated answer provided only a partial explanation of how the innovation will 
make the firm (Air New Zealand) more competitive. 

(c) 

The candidate only explained the Quality Assurance as a chosen QM strategy and 

explained the positive and the negative effect of the strategy. A full explanation would 
have used more formal business language (rather than the commonly used statement 

“less money”), and would have structured the answer more effectively. In the conclusion 

the candidate failed to fully explain the comparison with any of the other strategies listed 

in the answer. 

(d) 

The candidate described the chosen change management strategy and the positive 
effect. However, the candidate got off topic when explaining the negative effect by 

providing explanation that was not required. The conclusion did not have any new or 
relevant information. 
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